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Class:9th

Test:Chemistry

Attempt ......... questions

T When one mole of water in liquid state is converted .L:I/J“,a uﬁ]ﬁ,égjbé[,,@yug LGLJ

into vapour heat absorbed:
a.38.7kJ/mol b. 39.7 KJ/mol
c. 40.7 KJ/mol d 417 kT mol
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b. 39.7 KJ/mol
d. 41.7kI/mol

a. 38.7kJ/mol
c.40.7 KJ/mol

2 The appratus used to measure the pressure in e J Ul;d,fJWlié:L/pl’”//u”&//W

laboratory is:
a. Hydrometer b. Manometer

¢. Thermometer d. Galvanometer

3 The boiling point of water is:

a.0'C b.68'C
c. 100°C d.120°C
4 One atomospheric pressure is equal to how
many pascals:
a. 101325 b. 106075
c. 10325 d.10523

> The blood pressure of a healthy person is:
a.120/80mmHg  b. 140/90 mmHg
¢.110/100mmHg  d. 150/70 mmHg

6 The temperature at which an ideal gas would

have zero volume is:
a.373.15'C b.273.15'C

¢.-373.15'C d. 273 p5C
" Solid particles possess which'one ofthe

following motion

a. Rotational motion b. Viberational motion a.¢/ }”J/ 8,

c. Translational motion d. Simple motion
8 Which is crystalline solid?

b. Glass
d. Glucose

a. Diamond
c. Plastic
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a. 101325
¢ 10323

b. 106075

d.10523
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b. 140/90 mmHg

d. 150/70 mmHg

a. 120480 mmHg
e.N.0/ 100 mmHg
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a.373.15'C b.273.15°c
¢.-373.15°C d.-273.15'C
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